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	 1.	dFku%
	 	 ns'k dh òf¼ ,oa fodkl ds fy, ljdkjh ;kstuk,¡ 

vko';d gSA

	 	ladYiuk I%
	 	 ljdkj dk esd bu bafM;k vfHk;ku cgqr liQy 

gks x;k gSA

	 	ladYiuk II%
	 	 bl rjg ds jpukRed dk;ZØe ljdkj }kjk igys 

ugha pyk;s x,A

	 (a)	 dFku esa fliQZ ladYiuk I fufgr gS
	 (b)	 dFku esa fliQZ ladYiuk II fufgr gS
	 (c)	 dFku esa nksuksa ladYiuk,¡ fufgr gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa fufgr 
ugha gS

	 2.	dFku%
	 	 lHkh rjg dh 'kjkc ij çfrcaèk yxkuk 'kjkccanh 

dk lcls vPNk rjhdk gSA

	 	ladYiuk I%
	 	 gk¡] vkiwfrZ jksdus ls yksx 'kjkc ihuk can dj 

nsaxsA

	 	ladYiuk II%
	 	 ugha] blls xSjdkuwuh 'kjkc dk mRiknu vkSj 

u'khyh nokvksa dk mi;ksx c<+ tk;sxkA

	 (a)	 dFku esa fliQZ ladYiuk I fufgr gS
	 (b)	 dFku esa fliQZ ladYiuk II fufgr gS
	 (c)	 dFku esa nksuksa ladYiuk,¡ fufgr gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa fufgr 
ugha gS

	 3.	dFku%
	 	 jklk;fud moZjd] bZaèku vkSj Hkkstu esa feyk;s 

tkus okys jlk;u çnw"k.kdkjh gSa vkSj lkjs 
çnw"k.kdkjh rÙo gekjs LokLF; ij gkfudkjd 
çHkko Mkyrs gSaA

	 	ladYiuk I%
	 	 dkj esa lhlkjfgr isVªksy Mkyuk çnw"k.k dh deh 

esa enn dj ldrk gSA

	 	ladYiuk II%
	 	 iQly dh mit c<+kus ds mís'; ls ikSèkksa esa yxs 

dhM+s ekjus ds fy, dhVuk'kdksa dk fNM+dko 
lgh gSA

	 (a)	 dFku esa fliQZ ladYiuk I fufgr gS
	 (b)	 dFku esa fliQZ ladYiuk II fufgr gS

	 (c)	 dFku esa nksuksa ladYiuk,¡ fufgr gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa fufgr 
ugha gS

	 4.	dFku %

	 	 dsaæh; lapkj ea=kky; us gky gh esa ^nhu n;ky 
Li'kZ ;kstuk* ds uke ls 'kkys; Nk=k&Nk=kkvksa ds 
fy, vf[ky Hkkjrh; Nk=ko`fÙk dk;ZØe dh 
'kq#vkr dh gSA

	 	ladYiuk I%
	 	 ;g ;kstuk Mkd fVdV bdêòk djus dh xfrfofèk 

dks c<+kus okyh gSA

	 	ladYiuk II%
	 	 8 ls 16 o"kZ ds cPps bl Nk=ko`fÙk ds vkosnu 

ds fy, ik=krk j[krs gSaA

	 (a)	 dFku esa fliQZ ladYiuk I fufgr gS

	 (b)	 dFku esa fliQZ ladYiuk II fufgr gS

	 (c)	 dFku esa nksuksa ladYiuk,¡ fufgr gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa fufgr 
ugha gS

	 5.	,d d{kk esa 30» Nk=kk,¡ gSa] ftlesa ls 30» Nk=kkokl 
esa jgrh gSaA iwjh d{kk esa Nk=kkokl esa jgus okyh Nk=kkvksa 
dk çfr'kr gS

	 (a)	 90»	 (b)	60»

	 (c)	 15»	 (d)	9»

	 6.	fuEufyf[kr 'kCn dh lgh yac:i (oVhZdy) niZ.k 
Nfo dh igpku djsaA

REGISTRAR Mirror

	 (a)	 REGISTRAR 	 (b)	 REGISTRAR

	 (c)	 REGISTRAR	 (d)	 REGESTRAR

	 7.	X] Y vkSj Z ds fy, ewY;ksa dk irk yxk,¡A
42

24 Z
Y 10 8

7 7 X 5

	 (a)	 1] 19] 14

	 (b)	 2] 16] 16

	 (c)	 3] 14] 18

	 (d)	 5] 12] 13

	 8.	ml ?kukdkj ckWDl dh igpku djsa ftls uhps nh xbZ 
fp=k ds 1 ls 6 rd la[;kafdr N% psgjksa dks eksM+dj 
cuk;k tk ldrk gSA

1 2

5

6

3 4
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	 1.	 Statement :
		  Government schemes are essential for the 

growth and development of the country.
		  Assumption I :
		  Make in India campaign by the government 

has become a great success.
		  Assumption II :
		  There are no such creative programs 

previously launched by the government.
	 (a)	 Only Assumption I is implicit
	 (b)	 Only Assumption II is implicit
	 (c)	 Both Assumptions I and II are implicit
	 (d)	 Neither Assumption I nor II is implicit
	 2.	 Statement:
		  Banning all types of liquor is the best way 

to implement prohibition.
		  Assumption I:
		  Yes, by cutting the supply, people will stop 

drinking.
		  Assumption II :
		  No, it will lead to an increase in the 

production of illicit liquor and the use of 
drugs.

	 (a)	 Only Assumption I is implicit
	 (b)	 Only Assumption II is implicit
	 (c)	 Both Assumptions I and II are implicit
	 (d)	 Neither Assumption I nor II is implicit
	 3.	 Statement :
		  Chemical fertilizers, fuel and food additives 

are all pollutants and all pollutants affect our 
health conditions seriously.

		  Assumption :
		  Using unleaded petrol in cars will help 

reduce the pollution.
		  Assumption II :
		  Spraying pesticides on plants to kill the pests 

is good to increase the crop yield.
	 (a)	 Only Assumption I is implicit
	 (b)	 Only Assumption II is implicit
	 (c)	 Both Assumptions I and II are implicit
	 (d)	 Neither Assumption I nor II is implicit
	 4.	 Statement :
		  The Union Ministry of Communications has 

recently launched ‘Deen Dayal SPARSH 

Yojana’, a pan India scholarship program 
for school children.

		  Assumption I :
		  This scheme is to increase the scope and 

reach in philately,

		  Assumption II :
		  Children of age group 8- 16 years are eligible 

to apply for this scholarship.

	 (a)	 Only Assumption I is implicit

	 (b)	 Only Assumption II is implicit

	 (c)	 Both Assumptions I and II are implicit

	 (d)	 Neither Assumption I nor II is implicit

	 5.	 There are 30% girls in a class and in that 30% stay 
in hostels. The percentage of girls in the class who 
are in the hostel is

	 (a)	 90%

	 (b)	 60%

	 (c)	 15%

	 (d)	 9%

	 6.	 Identify the corrtect vertical mirror image of the 
following word.

REGISTRAR Mirror

	 (a)	 REGISTRAR

	 (b)	 REGISTRAR

	 (c)	 REGISTRAR

	 (d)	 REGESTRAR

	 7.	 Find the values for X, Y and Z.
42

24 Z
Y 10 8

7 7 X 5

	 (a)	 1, 19, 14

	 (b)	 2, 16, 16

	 (c)	 3, 14, 18

	 (d)	 5, 12, 13

	 8.	 Identify the cubical box that can be made when 
the following figure with six faces numbered from 
1 to 6 is folded.

1 2
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	 (a)	
5

6 
4 	 (b)	 1

2 
6

	 (c)	 3

4
2 	 (d)	

1

3 
2

	 9.	tc ,d ikls dks pkj ckj iQsadk x;k] rks fuEufyf[kr 
ifj.kke mRiUu gq,%

Q

T
S R

Q
UR

U
P T

R
P

	 	ikls esa 'S' v{kj okys psgjs ds foijhr fuEufyf[kr esa 
ls dkSu&ls v{kj okyk psgjk gS\

	 (a)	 P	 (b)	 Q

	 (c)	 R	 (d)	 U

	10.	v#"k] vafcdk dk iq=k gS_ vafcdk vkSj vouh cgusa gSa_ 
vkjrh] vouh dh ek¡ gS vkSj veu] vkjrh dk iq=k gSA 
fuEufyf[kr esa ls dkSu&lk dFku lR; gS\

	 (a)	 veu vkSj v#"k ppsjs HkkbZ (dftu) gSa

	 (b)	 veu] v#"k ds ekek gSa

	 (c)	 vouh] v#"k dh ukuhth gSa

	 (d)	 vafcdk vkSj vkjrh cgusa gSa

	11.	rLohj esa ,d O;fDr dh vksj b'kkjk djrs gq,] ,d 
efgyk us dgk ¶mlds HkkbZ ds firk esjh ek¡ ds ,dek=k 
iq=k gSa¸A og O;fDr ml efgyk ls fdl çdkj lacafèkr 
gS\

	 (a)	 iq=k	 (b)	HkkbZ

	 (c)	 pkpk@ekek	 (d)	Hkrhtk@Hkkatk

	12.	vki ,d VªSfiQd iqfyl vfèkdkjh gSaA vkids 'kgj ds 
foèkk;d dh dkj flXuy ij yky cÙkh dk mYya?ku 
djrh gSA vki D;k djsaxs\

	 (a)	 vuns[kh djsaxs

	 (b)	 tqekZuk yxk,axs

	 (c)	 ,d psrkouh ds lkFk dkj NksM+ nsaxs

	 (d)	 dkj pkyd ls fiQj ls mYya?ku ugha djus dk 
vuqjksèk djsaxs

	13.	fuEu esa ls fdl fLFkfr esa vki dkMZ Hkstus ds fy, 
lcl T;knk bPNqd gksaxs\

	 (a)	 tc vki dks vkikrdkyhu fpfdRlk tk¡p dh 
t:jr gks

	 (b)	 vius nksLrksa dks u, lky dh 'kqHkdkeuk,a nsus 
ds fy,

	 (c)	 vki vius nksLr ds lkFk fØdsV eqdkcyk ns[kuk 
pkgrs gks

	 (d)	 tc vkidks fdjkus dk lkeku [kjhnuk gksxk

	14.	,d O;fDr tks vU; yksxksa ls nwj jguk ilan djrk gS] 
mls fuEufyf[kr esa ls D;k dg ldrs gSa\

	 (a)	 oSjkxh	 (b)	vdsyk

	 (c)	 riLoh	 (d)	mi;ZqDr esa ls dksbZ ugha

	15.	i;kZoj.k ij fdlh O;fDr ;k leqnk; ds çHkko dks] 
çkÑfrd lalkèkuksa ds mi;ksx ds fy, vko';d Hkwfe 
dh ek=kk ds rkSj ij O;Dr fd;k tk;s rks] dgk tkrk gS

	 (a)	 i;kZoj.k esa vlarqyu	 (b)	tyok;q ifjorZu

	 (c)	 Xykscy okfeZax	 (d)	ikfjfLFkfrdh; infpÉ

funZs'k (ç'u Ø- 16&18)% uhps fn, x, ç'uksa esa ,d dFku 
vkSj rRi'pkr~ nks ladYiuk Ø- I vkSj Ø- II fn, x, gSaA 
ladYiuk ij fopkj djsa vkSj r; djsa fd muesa ls dkSu&lk 
fn, x, dFku esa fufgr gSA

	16.	dFku %
	 	 Hkkjr esa jkstxkj dh fLFkfr dks lqèkkjus ds fy, 

orZeku f'k{kk ç.kkyh dh dk;kiyV djuh gksxhA

	 	ladYiuk I %
	 	 ,d O;fDr mfpr vkthfodk dekus esa l{ke 

gksxkA

	 	ladYiuk II %
	 	 ;qok eu esa f'k{kk dk vFkZ Li"V gks tk,xkA

	 (a)	 dFku esa fliQZ ladYiuk I çHkko'kkyh gS

	 (b)	 dFku esa fliQZ ladYiuk II çHkko'kkyh gS

	 (c)	 dFku esa nksuksa ladYiuk,¡ çHkko'kkyh gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa çHkko'kkyh 
ugha gS

	17.	dFku%
	 	 	vfèkdka'k ukSdjh fu;qfDr;ksa esa ,d ;k nks lky 

dh ifjoh{kk vofèk gksrh gSA

	 	ladYiuk I%
	 	 fu;qfDr ds le; mEehnokj dh {kerkvksa dks rjg 

ls vkaduk eqf'dy gSA

	 	ladYiuk II%
	 	 yksx ifjoh{kk vofèk ds nkSjku viuh vfèkd 

{kerk dks çnf'kZr djus dk ç;kl djrs gSaA

	 (a)	 dFku esa fliQZ ladYiuk I çHkko'kkyh gS

	 (b)	 dFku esa fliQZ ladYiuk II çHkko'kkyh gS

	 (c)	 dFku esa nksuksa ladYiuk,¡ çHkko'kkyh gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa çHkko'kkyh 
ugha gS
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	 (a)	
5

6 
4 	 (b)	 1

2 
6

	 (c)	 3

4
2 	 (d)	

1

3 
2

	 9.	 When a dice has been thrown four times, it 
produces following results each time :

Q

T
S R

Q
UR

U
P T

R
P

		  Which one of the following alphabets contained 
face appears opposite to the face having alphabet 
‘S’ in the dice?

	 (a)	 P
	 (b)	 Q
	 (c)	 R
	 (d)	 U
	 10.	 Arush is the son of Ambika; Ambika and Avani are 

sisters; Aarti is the mother of Avani and Aman is 
the son of Aarti, Which of the following statements 
is true?

	 (a)	 Aman and Arush are cousins
	 (b)	 Aman is maternal uncle of Arush
	 (c)	 Avani is the maternal grandmother of Arush
	 (d)	 Ambika and Aarti are sisters
	 11.	 Pointing towards a man in the photograph, a lady 

said “the father of his brother is the only son of my 
mother”. How is the man related to the lady?

	 (a)	 Son	 (b)	 Brother
	 (c)	 Uncle	 (d)	 Nephew
	 12.	 You are a traffic police officer. Car of the MLA of 

your city jumps the red light at the signal. What 
will you do?

	 (a)	 Will overlook
	 (b)	 Impose a penalty
	 (c)	 Leave the car with a warning
	 (d)	 Will request the driver of car not to do again
	 13.	 In which of the following situations you are most 

likely to send a card?
	 (a)	 When you wish to see medical appointment
	 (b)	 To wish new year greetings to your friends
	 (c)	 you wish to watch a cricket match with your 

friend
	 (d)	 You have to buy groceries

	 14.	 A person who shuns the company of other people 
can be called a

	 (a)	 Recluse
	 (b)	 Solitary
	 (c)	 Ascetic
	 (d)	 None of the above
	 15.	 The impact of a person or community on the 

environment, expressed as the amount of land 
required to sustain their use of natural resources is 
known as

	 (a)	 Environmental imbalance
	 (b)	 Climate change
	 (c)	 Global warming
	 (d)	 Ecological footprint
Directions (Question Nos. 16-18): In each of the 
questions below is given a statement followed by two 
assumptions numbered I and II. Consider the assumptions 
and decide which of them is implicit in the given 
statement.
	 16.	 Statement :
		  Present education system must be overhauled 

to improve the employment situation in 
India.

		  Assumption I :
		  An individual would be able to earn proper 

livelihood.
		  Assumption II :
		  The meaning of education in young minds 

will be clearer.
	 (a)	 Assumption I is strong
	 (b)	 Assumption II is strong
	 (c)	 Assumptions I and II are strong
	 (d)	 Neither Assumption I nor Il is strong
	 17.	 Statement :
		  Most of the job appointments have a one or 

two year probation period.
		  Assumption I :
		  It is difficult to judge the abilities of the 

candidate completely at the time of 
appointment.

		  Assumption II :
		  People try to demonstrate their maximum 

potential during the probation period.
	 (a)	 Only Assumption I is implicit
	 (b)	 Only Assumption II is implicit
	 (c)	 Both Assumptions are implicit
	 (d)	 Neither Assumption I nor II is implicit
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	18.	dFku%

	 	 ljdkj cqysV Vªsu 'kq: djuk pkgrh gSA

	 	ladYiuk I%
	 	 cM+h la[;k esa jsy ;kf=k;ksa }kjk cqysV Vªsu dk 

mi;ksx djus dh mEehn gSA

	 	ladYiuk II%
	 	 cgqr ls yksx gokbZ ;k=kk dh ctk; cqysV Vªsu esa 

;k=kk djuk ilan djsaxsA

	 (a)	 dFku esa fliQZ ladYiuk I çHkko'kkyh gS

	 (b)	 dFku esa fliQZ ladYiuk II çHkko'kkyh gS

	 (c)	 dFku esa nksuksa ladYiuk,¡ çHkko'kkyh gSa

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa çHkko'kky 
ugha gS

	19.	fuEufyf[kr vfHkO;fDr dk ljyhÑr eku D;k gS\
1– 1

3

3+ 1
3

3+ 13+

	 (a)	 13@33

	 (b)	 29@34

	 (c)	 8@13

	 (d)	 32@43

funZs'k (ç'u Ø- 20&24)% fuEufyf[kr ys[kka'k dks if<+;s 
vkSj var esa fn;s x;s ç'uksa ds mÙkj nhft;sA ç'uksa ds mÙkj 
ys[kka'k ij vkèkkfjr gksus pkfg,A

;g èkkj.kk fd lqj{kkRed lkèku ls n?kZVukvksa esa ihfM+r dks 
de pksV igq¡prh gS] igyh utj esa ,d Li"V fu"d"kZ ekuk 
tkrk gSA vkf[kjdkj] bu mRiknksa dk mís'; ;k rks nq?kZVukvksa 
dk gku ls jksduk ;k iguus okys dks nq?kZVuk gksus ij de 
pksV igqapkuk gSA gkyk¡fd] fu"d"kZ ;g gS fd mPp xq.koÙkk 
okys lqj{kkRed fx;j esa fuos'k djus ls nq?kZVuk esa xaHkhj :i 
ls ?kk;y gksus dk [krjk de gks tkrk gS ijUrq ;g fLFkfr 
pksVksa ds vU; laHkkfor dkj.kksa ij inkZ Mky nsrh gS vkSj yksxksa 
dks lqj{kkRed fx;j esa vkfFkZd :i ls vkSj euksoSKkfud :i 
ls fuos'k djus ds fy, çksRlkfgr dj ldrh gSA lcls igys] 
tSlk fd rdZ esa mfYyf[kr gS] nks vyx&vyx çdkj ds 
lqj{kkRed lkèku gSa&fuokjd lkèku tSls çdk'k çfrfcafcr 
lkexzh vkSj lqj{kkRed lkèku tSls gsyesVA fuokjd lkèkuksa dk 
mís'; gS vkl ikl ds vU; yksxksa dks psrkouh nsuk] tSls ogk¡ 
eksVj pkydksa dks jksyj LdsVj dh mifLFkfr dh tkudkjh nsukA 
;g dsoy rHkh dke djrk gS ;fn ¶vU;¸ ,d ftEesnkj vkSj 
lsokHkko okyk O;fDr gS tks LdsVj dks vko';d LFkku vkSj 
è;ku ns ldrk gSA lqj{kkRed fx;j dk mís'; fdlh nq?kZVuk 
ds çHkko dks de djuk gS] pkgs og fdlh vU;] LdsVj ;k 

çÑfr dh dqN 'kfDr ds dkj.k gksA nq?kZVukvksa dks jksdus ds 
fy, lqj{kkRed fx;j FkksM+k] vxj dqN djrk Hkh gS rks bruk 
fd nq?kZVuk esa gksus okyh pksVksa dks de djrk gSA LdsfVax djus 
okyksa ds nq?kZVuk ihfM+r pksVksa ds vkadM+s vfèkd fnypLi gksaxs 
;fn LdsfVax djus okyksa dks bl çdkj lewfgr fd;k tk;s] tks 
dksbZ Hkh lkèku u igus gksa] tks dsoy lqj{kkRed lkèku igus 
gq, gksa] tks dsoy fuokjd lkèku igus g, gksa vkSj tks nkuk 
igu gq, gksaA ;s vkadM+s LdsfVax djus okyksa dks Li"V le> 
çnku dj ldrs gSa fd fdl rjg ds lkèku vfèkd iQk;nsean 
gSaA

	20.	ifjPNsn esa ls dkSu&lk loZJs"B fu"d"kZ fudkyk tk 
ldrk gS\

	 (a)	 ,d fuokjd lkèku mu O;fDr;ksa ds fy, çHkkfor 
gksus dh mEehn gS tks fd LdsVj dks vko';d 
LFkku vkSj è;ku ns lds

	 (b)	 ,d fuokjd lkèku dsoy mu O;fDr;ksa ds fy, 
çHkkoh gksus dh mEehn gS tks eksVj pkyd gSa

	 (c)	 ,d fuokjd lkèku dsoy rc çHkkoh gksus mEehn 
gS tc O;fDr fuokjd lkèku igurs gSaA

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	21.	fn, x, ifjPNsn ds vuqlkj lkèkuksa ;k fx;lZ dh 
çHkko'khyrk dks csgrj le>k tk ldrk gS

	 (a)	 eksVj fx;lZ dh tk¡p djds

	 (b)	 LdsVj fx;lZ dh tk¡p djds

	 (c)	 yksxksa dks foÙkh; vkSj ekufld :i ls fuos'k 
djus ds fy, çsj.kk nsdj

	 (d)	 mUgsa iqu% lewfgr djds pksVksa dh rdZlaxr tk¡p 
djds

	22.	fn, x, vuqPNsn ds vuqlkj fuEufyf[kr esa ls dkSu&lk 
'kCn ^fx;j* dk lcls vPNk o.kZu djrk gS\

	 (a)	 Mªkbfoax ds fy, bLrseky fd;k tkus okyk ,d 
midj.k

	 (b)	 ,d e'khu dk fgLlk

	 (c)	 ,d ifg;k ftlesa nkars gksa

	 (d)	 dfeZ;ksa dh lqj{kk ds fy, ,d midj.k

	23.	fn, x, ifjPNsn ds vuqlkj fdlh nq?kZVuk ls gksus okyh 
{kfr dks de djus ds fy, fuEufyf[kr esa ls fdl dk 
mi;ksx fd;k tk ldrk gS\

	 (a)	 lHkh lqj{kkRed fx;j dk mi;ksx djds

	 (b)	 lHkh fuokjd fx;j dk mi;ksx djds

	 (c)	 ijkorZd igudj

	 (d)	 gsyesV igudj
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	 18.	 Statement :
		  The government wants to start the bullet 

trains.

		  Assumption I :
		  A large number of rail passengers are 

expected to use bullet trains.

		  Assumption II :
		  Many people will switch from air travel to 

bullet train.

	 (a)	 Only Assumption I is implicit

	 (b)	 Only Assumption II is implicit

	 (c)	 Both Assumptions are implicit

	 (d)	 Neither Assumption I nor II is implicit

	 19.	 What is the simplified value of the following 
expression?

1– 1
3

3+ 1
3

3+ 13+

	 (a)	 13/33

	 (b)	 29/34

	 (c)	 8/13

	 (d)	 32/43

Directions (Question Nos. 20-24): Read the following 
excerpt and answer the questions asked at the end. The 
answers to the questions should be based on the excerpt.

The notion that protective gear reduces the injuries 
suffered in accidents seems at first glance to be an 
obvious conclusion. After all, it is the intent of these 
products to either prevent accidents from occurring in 
the first place or to reduce the injuries suffered by the 
wearer when an accident occur. However, the conclusion 
that investing in high quality protective gear greatly 
reduces the risk of being severely injured in an accident 
may mask other potentially more significant causes of 
injuries and may inspire people to over invest financially 
and psycologically in protective gear. First of all, as 
mentioned in the argument, there are two distinct kinds 
of gear - preventative gear such as light reflecting 
material and protective gear such as helmets. Preventative 
gear is intended to warn others, presumably for the most 
part motorists, of the presence of the roller skater. It 
works only if the "other" is a responsible and caring 
individual who will afford the skater the necessary space 

and attention. Protective gear is intended to reduce the 
effect of any accident, whether it is caused by another, 
the skater or some force of nature. Protective gear does 
little, if anything, to prevent accidents but is presumed 
to reduce the injuries that occur in an accident. The 
statistics on injuries suffered by skaters would be more 
interesting if the skater were grouped into those wearing 
no gear at all, those wearing protective gear only, those 
wearing preventative gear only and those wearing both. 
These statistics could provide skaters with a clearer 
understanding of which kinds of gear are more beneficial.

	 20.	 Which one of the following can be best concluded 
from the passage?

	 (a)	 preventative gear is expected to be effective 
for individuals who will afford the skater the 
necessary space and attention

	 (b)	 A preventative gear is expected to be 
effective only for individuals who are 
motorists

	 (c)	 A preventative gear is expected to be 
effective only when individuals wear 
preventative gears

	 (d)	 None of the above

	 21.	 According to the passage, effectiveness of the gears 
can be better understood

	 (a)	 By investigating the motor gears

	 (b)	 By investigating the skater gears

	 (c)	 By inspiring people to invest financially and 
psychologically

	 (d)	 By rationally investigating the injuries by 
regrouping them

	 22.	 According to the passage, which of the following 
best describes the word ‘gear’?

	 (a)	 An equipment used for driving

	 (b)	 A machine part

	 (c)	 A toothed wheel

	 (d)	 A device for protecting a personnel

	 23.	 According to the passage, which of the following 
can be used to minimize casualty in an accident?

	 (a)	 By using all protective gears

	 (b)	 By using all preventative gears

	 (c)	 By wearing reflectors

	 (d)	 By wearing helmet
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	24.	fn, x, ifjPNsn ds vuqlkj ,d mPp çfrfcafcr lkexzh 
dks

	 (a)	 nq?kZVuk dks de djus ds fy, bLrseky fd;k tk 
ldrk gS

	 (b)	 fdlh nq?kZVuk esa pksV dks de djus ds fy, 
bLrseky fd;k tk ldrk gS

	 (c)	 ,d ,slh lkexzh gS tks çdk'k dks çfrfcafcr 
djrh gS

	 (d)	 ,d gYdh lkexzh gS

	25.	js[kk,¡ x=y/4 + a vkSj y = x/4 + b ,d nwljs dks 
fcanq (1] 2) ij dkVrh gSa a + b D;k gS\

	 (a)	 0	 (b)	3@4

	 (c)	 1	 (d)	9@4

	26.	,d Nk=k dks ikl gksus ds fy, dqy vad dk 33» 
çkIr djuk gksrk gSA mls 125 vad feys vkSj og 40 
vadksa ls iQsy gks x;kA vfèkdre vad fdrus gSa\

	 (a)	 300	 (b)	400

	 (c)	 500	 (d)	600

	27.	tc lw;Z dh Å¡pkbZ 30° ls 60° gks tkrh gS] rks Vkoj 
dh Nk;k dh yackbZ 70 eh- de gks tkrh gSA Vkoj dh 
Å¡pkbZ D;k gS\

	 (a)	 35 eh-

	 (b)	 140 eh-

	 (c)	 60-6 eh-

	 (d)	 20-2 eh-

	28.	;fn dksbZ foØsrk fdlh oLrq dk foØ; ewY; ` 400 
ls ` 380 rd de dj nsrk gS] rks mldk uqdlku 2» 
c<+rk gSA oLrq dk ykxr ewY; D;k gS\

	 (a)	 `1]000	 (b)	`800

	 (c)	 `1]200	 (d)	`1]100

	29.	;fn 10 iq#"k ;k 20 yM+ds 20 fnuksa esa 260 eSV cuk 
ldrs gSa] rks 8 iq#"k vkSj 4 yM+ds 20 fnuksa esa fdrus 
eSV cuk;saxs\

	 (a)	 260	 (b)	240

	 (c)	 280	 (d)	520

	30.	ÅtkZ laj{k.k vkt ds le; esa cgqr egRoiw.kZ gS D;ksafd

	 (a)	 ÅtkZ ds ikjEifjd lzksr cgr rsth ls de gks 
jgs gSa

	 (b)	 fo|qr ÅtkZ vfèkd egaxh gks x;h gS

	 (c)	 fo|qr ÅtkZ dk mi;ksx c<+ x;k gS

	 (d)	 mijksDr esa ls dksbZ ugha

	31.	P, Q, R, S vkSj dks ,d iafDr esa mÙkj fn'kk dh rjiQ 
psgjk djds cSBuk gS] ijUrq 'krZ ;s gS fd R vkSj S 
lkFk ugha cSB ldrsA blh rjg Q rhljs LFkku ij ugha 
cSB ldrkA vxj P vkSj Q lkFk esa gSa rFkk R igys 
LFkku ij gS] rks bl ifjfLFkfr esa fuEufyf[kr esa ls D;k 
lgh ugha gks ldrk\

	 (a)	 S pkSFks LFkku ij gS

	 (b)	 S nwljs LFkku ij gS

	 (c)	 P rhljs LFkku ij gS

	 (d)	 mijksDr esa ls dksbZ ugha

	32.	ekrk % ekrk&firk
	 (a)	 pkpk % Hkrhtk

	 (b)	 cgu % HkkbZ&cgu

	 (c)	 firk % iq=k

	 (d)	 iq=kh % cgu

	33.	fdlh ladsr Hkk"kk esa 256 dk eryc ‘you are good’ 
gSA 637 dk eryc ‘we are bad’ gS vkSj 358 dk 
eryc ‘good and bad’ gSA mlh ladsr Hkk"kk esa 
fuEufyf[kr esa ls dkSu&lk fodYi ‘and’ 'kCn dks 
bafxr djrk gS\

	 (a)	 2	 (b)	5

	 (c)	 3	 (d)	8

	34.	ladYiuk I%
	 	 laè;k us 7½ yhVj rsy [kjhnkA blesa ls 5¾ 

yhVj rsy dk mi;ksx dj fy;kA 1⅓ yhVj rsy 
mldh jlksbZ esa cpk gSA

	 	ladYiuk II%
	 	 vtZqu us ,d fdrkc dk 3@5 fgLlk i<kA mlus 

ns[kk fd ml fdrkc esa 80 ist i<+uk 'ks"k gSA 
fdrkc dh dqy ist la[;k 200 gSA

	 (a)	 fliQZ ladYiuk I dFku esa fufgr gS

	 (b)	 fliQZ ladYiuk II dFku esa fufgr gSA

	 (c)	 nksuksa ladYiuk,¡ dFku esa fufgr gSaA

	 (d)	 nksuksa esa ls dksbZ Hkh ladYiuk dFku esa fufgr 
ugha gS

	35.	,d d{kk esa] vf'ou us ik;k fd mlls csgrj çn'kZu 
djus okys Nk=kksa dh la[;k mu Nk=kksa dh la[;k ls rhu 
xq.kk vfèkd gS] ftUgksaus mlls Hkh cqjk fd;k gSA vxj 
vf'ou dh jSad 61 gS] rks d{kk esa dqy Nk=kksa dh la[;k 
gksxh

	 (a)	 80	 (b)	81

	 (c)	 82	 (d)	83
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	 24.	 According to to the passage, a high reflecting 
material

	 (a)	 may be used to minimize Accident
	 (b)	 may be used to minimize injury in an 

Accident
	 (c)	 is a material that reflects light
	 (d)	 is a light material
	 25.	 The lines x=y/4 + a and y = x/4 + b intersect each 

other at the point (1, 2). What is a + b?
	 (a)	 0
	 (b)	 3/4
	 (c)	 1
	 (d)	 9/4
	 26.	 A student has to obtain 33% of the total marks to 

pass. He got 125 marks and failed by 40 marks. 
The maximum mark is

	 (a)	 300
	 (b)	 400
	 (c)	 500
	 (d)	 600
	 27.	 When sun’s altitude changes from 30° to 60°, the 

length of the shadow of a tower decreases by 70 
m. What is the height of the tower?

	 (a)	 35 m
	 (b)	 140 m
	 (c)	 60.6 m
	 (d)	 20.2 m
	 28.	 If a seller reduces the selling price of an item from 

400 to 380, his loss increases by 2%. What is the 
cost price of the item?

	 (a)	 ₹1,000
	 (b)	 ₹800
	 (c)	 ₹1,200
	 (d)	 ₹1,100
	 29.	 If 10 men or 20 boys can make 260 mats in 20 

days, then 8 men and 4 boys will make how many 
mats in 20 days?

	 (a)	 260
	 (b)	 240
	 (c)	 280
	 (d)	 520
	 30.	 Energy conservation is very important today 

because
	 (a)	 Sources of conventional energy are fast 

depleting

	 (b)	 Electrical energy has become more 
expensive

	 (c)	 Electrical energy consumption is increasing
	 (d)	 None of the above
	 31.	 P, O, R, S and T are to be seated in a row facing 

north, but Rand S cannot be together. Also, Q 
cannot be at third place. If Pand Q are together and 
Ris at the first place, then which of the following 
cannot be true?

	 (a)	 S is at fourth place
	 (b)	 S is at second place
	 (c)	 P is at third place
	 (d)	 None of the above
	 32.	 Mother : Parent
	 (a)	 Uncle : Nephew
	 (b)	 Sister: Sibling
	 (c)	 Father : Son
	 (d)	 Daughter : Sister
	 33.	 In certain code language, 256 means ‘you are 

good’, 637 means ‘we are bad’ and 358 means 
‘good and bad’? Which of the following correctly 
represents ‘and’ in that code language?

	 (A)	 2
	 (b)	 5
	 (c)	 3
	 (d)	 8
	 34.	 Assumption I :
		  Sandhya bought 7½ litres of oil. Out of this, 

5¾ litres is consumed. 1⅓ litres is left in her 
kitchen.

		  Assumption II :
		  Arjun reads 3/5 of a book. He finds that there 

are still 80 pages left to be read. Total 
number of pages in the book is 200.

	 (a)	 Only Assumption I is implicit
	 (b)	 Only Assumption II is implicit
	 (c)	 Both Assumptions are implicit
	 (d)	 Neither Assumption I nor II is implicit
	 35.	 In a class, Ashwin finds that number of students 

who have performed better than him is thrice the 
number of students who have done worse than him. 
If Ashwin’s rank is 61, then the total number of 
students in the class is equal to

	 (a)	 80	 (b)	 81
	 (c)	 82	 (d)	 83
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	36.	vt;] o#.k ds if'pe fn'kk esa 1 fd-eh- dh nwjh ij 
[kM+k gSA vt; mÙkj fn'kk esa pyuk 'kq: djrk gS] 
tcfd o#.k mÙkj&if'pe fn'kk esa pyuk 'kq: djrk 
gSA nksuksa 20 feuV ckn feyrs gSaA o#.k dh xfr dk 
vt; dh xfr ls vuqikr fdruk gS\

	 (a)	 √2
	 (b)	 1@√2
	 (c)	 2

	 (d)	 1@2

	37.	fdlh nks vadksa dh la[;k dks “IJ” ls n'kkZ;k x;k gS 
;fn J2 – I2 dk eku J–I ds eku dk nl xq.kk gS] og 
nks vadksa dh la[;k D;k gksxh\

	 (a)	 26

	 (b)	 84

	 (c)	 48

	 (d)	 37

funZs'k (ç'u Ø- 38&40)% lcls mi;qDr fodYi ds l 
fjDr LFkku HkjsaA

	38.	_______ xzkgd u dsoy vkids laxBu okil ykSVrk 
gS] cfYd vki dh fliQkfj'k Hkh nwljksa djrk gSA

	 (a)	 èkS;Zoku

	 (b)	 vlarq"V

	 (c)	 larq"V

	 (d)	 vèkhj

	39.	_____ ,d vkØked O;ogkj ds :i ekuk tkrk gS 
vkSj lcls vfèkd oDrk ls udkjkRe çfrfØ;k ykus dh 
laHkkouk gSA

	 (a)	 Vksduk

	 (b)	 taHkkbZ ysuk

	 (c)	 è;ku u nsuk

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	40.	_______ ,d ,slk 'kCn gS] tks 'kCnksa] okD;ka'k [kaM 
;k okD;ksa dks tksM+rk gSA

	 (a)	 iwoZlxZ

	 (b)	 la;kstd

	 (c)	 foLe;kfncksèkd

	 (d)	 fØ;k

funZs'k (ç'u Ø- 41&45)% uhps fn, x, ç'uksa ds mÙkj nsus 
ds fy, fuEufyf[kr ckj&pkVZ dk è;kuiwoZd vè;;u djsaA 
ckj&pkVZ o"kZ 2015 esa ikap eksckby daifu;ksa (P] Q] R] S 
vkSj T) dh vk; vkSj O;; (yk[k #i;s esa) dks bafxr djrk 
gSA fdlh daiuh dk çfr'kr ykHk ;k gkfu (» ykHk@gkfu) ¾ 

vk;&O;;
O;;

 × 100 }kjk fn;k tkrk gSA
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	41.	irk djsa fd o"kZ 2015 esa fuEufyf[kr esa ls fdl daiuh 
us vfèkdre ykHk dek;k\%

	 (a)	 Q
	 (b)	 T
	 (c)	 R
	 (d)	 S

	42.	irk djsa fd o"kZ 2015 esa fuEufyf[kr esa ls fdl dks 
lcls vfèkd uqdlku gqvk Fkk\

	 (a)	 P
	 (b)	 Q
	 (c)	 R

	 (d)	 S

	43.	o"kZ 2015 esa ikapksa daifu;ksa dk dqy ykHk@gkfu D;k 
Fkk\

	 (a)	 6-5» gkfu

	 (b)	 7-5» ykHk

	 (c)	 5» ykHk

	 (d)	 5» gkfu

	44.	P vkSj Q daifu;ksa dk dqy ykHk@gkfu çfr'kr 2015 
esa D;k Fkk\

	 (a)	 5-25» ykHk

	 (b)	 5-25» gkfu

	 (c)	 6-25» ykHk

	 (d)	 dksbZ uqdlku ugha vkSj dksbZ ykHk ugha

	45.	daiuh S dks o"kZ 2014 esa 20» dk uqdlku gqvk vkSj 
o"kZ 2015 esa daiuh dh vk; o"kZ 2014 esa mudh vk; 
ls 25» vfèkd FkhA o"kZ 2014 esa bldk (yk[k #i;s 
esa) D;k Fkk\

	 (a)	 320	 (b)	360

	 (c)	 400	 (d)	420
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	 36.	 Ajay is standing west to Varun at a distance of 1 
km. Ajay starts walking in the north direction, 
whereas Varun starts walking in the north-west 
direction. Both meet after 20 minutes. The ratio of 
speed of Varun to that of Ajay is

	 (a)	 √2
	 (b)	 1/√2
	 (c)	 2
	 (d)	 1/2
	 37.	 A two digit number is represented as “IJ”. If the 

value of J2 – I2 is equal to ten times the value of 
J-I, the two digit number is

	 (a)	 26
	 (b)	 84
	 (c)	 48
	 (d)	 37
Directions (Question Nos. 38-40): Fill in the blanks 
with the most suitable choice.
	 38.	 _______ customer not only retums back to your 

organization but also recommend you to others.
	 (a)	 Patient
	 (b)	 Dissatisfied
	 (c)	 Satisfied
	 (d)	 Impatient
	 39.	 _____ is considered as an aggressive behaviour 

and will most likely bring negative response from 
the speaker.

	 (a)	 Interrupting
	 (b)	 Yawning
	 (c)	 Ignoring
	 (d)	 None of the above
	 40.	 A _____ is a word which connects words, phrases, 

clauses or sentences.
	 (a)	 Preposition
	 (b)	 Conjunction
	 (c)	 Interjection
	 (d)	 Verb
Directions (Question Nos. 41 – 45) : Study the 
following bar-chart carefully to answer the questions 
given below. The bar-chart indicates the income and 
expenditure (in lakhs of rupees) of five mobile companies 
(P, Q, R, S and T) in the year of 2015. The percent profit 
or loss of a company is given by (% Profit/Loss) = 
Income – Expenditure

Expenditure
 × 100
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	 41.	 Find out which of the following companies earned 
the maximum profit in the year 2015?

	 (a)	 Q
	 (b)	 T
	 (c)	 R
	 (d)	 S
	 42.	 Find out which of the following companies had 

the maximum loss in the year 2015?
	 (a)	 P
	 (b)	 Q
	 (c)	 R
	 (d)	 S
	 43.	 What was the profit/loss percentage of the five 

companies together had in the year 2015?
	 (a)	 6.5% loss
	 (b)	 7.5% profit
	 (c)	 5% profit
	 (d)	 5% loss
	 44.	 What was the profit/loss percentage of the 

companies P and together had in the year 2015?
	 (a)	 5.25% profit
	 (b)	 5.25% loss
	 (c)	 6.25% profit
	 (d)	 No loss and no profit
	 45.	 The company S had a loss of 20% in the year 2014 

and the company’s income in the year 2015 was 
25% more than its income in the year 2014. What 
was its expenditure (in lakhs of rupees) in the year 
2014?

	 (a)	 320
	 (b)	 360
	 (c)	 400
	 (d)	 420
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funZs'k (ç'u Ø- 46&49)% fuEufyf[kr ys[kka'k dks if<+, 
vkSj var esa fn;s x;s ç'uksa ds mÙkj nhft;sA

,d ikVhZ esa ,d pkSdksj est] ftlds çR;sd fdukjs dh eki 
200 cm dks cxhps esa bl rjg j[kk x;k gS fd est ds pkj 
fdukjs ;k mÙkj&nf{k.k ;k iwoZ&if'pe ds lekukarj gSaA vkB 
O;fDr (P, Q, R, S, T, U, V vkSj W) bl est ds pkjksa vksj 
vkSj est ds dsaæ dh vksj eq[k djds cSBs gSaA pkj O;fDr esat 
ds dksuksa ij cSBs gSa vkSj 'ks"k pkj est ds çR;sd fdukjs ds 
eè;fcUnq ij cSBs gSaA

P vkSj W ,d nwljs ds lkeus cSBs gSa vkSj muds chp dh 
nwjh est ds pkjksa vksj cSBs fdlh Hkh nks O;fDr;ksa ds chp dh 
vfèkdre laHko nwjh gSA

uhps fn, x, MsVk vkSj ç'uksa esa mfYyf[kr fn'kk,¡ iw.kZ 
çfrfufèkRo djrh gSa vkSj O;fDr;ksa ds vfHkfoU;kl ls Lora=k 
gSaA

V, S ds mÙkj vkSj P ds iwoZ esa cSBk gSaA

R, U ds mÙkj esa vkSj Q ds if'pe esa cSBk gSaA

	46.	fuEufyf[kr esa nks W ls cjkcj nwjh ij cSBs gSa
	 (a)	 S vkSj Q

	 (b)	 V vkSj S

	 (c)	 V vkSj R

	 (d)	 V vkSj Q

	47.	O;fDr S ds ck;ha vksj dkSu cSBk gS\

	 (a)	 U
	 (b)	 P
	 (c)	 T

	 (d)	 W

	48.	W vkSj R ds chp dh nwjh gS

	 (a)	 100

	 (b)	 200

	 (c)	 100√5
	 (d)	 100√2
	49.	T ds mÙkj ;k nf{k.k esa fuEufyf[kr esa ls dkSu cSBk@

cSBs gS@gSa\

	 (a)	 dsoy Q	 (b)	Q vkSj W

	 (c)	 dsoy R	 (d)	R vkSj P

	50.	orZeku le; esa lsy iQksu dk mi;ksx rsth ls c<+ jgk 
gSA bldk fuf'pr rkRi;Z gS fd

	 (a)	 lsy iQksu lLrs gks x, gS

	 (b)	 yksxksa dh vkenuh c<+ xbZ gSA

	 (c)	 lsy iQksu dh cgqr nqdkusa [kqy x;h gSaA

	 (d)	 lsy iQksu daifu;k¡ cgqr foKkiu nsrh gSaA

	51.	uhps nh xbZ vkÑfr esa] AC + AB = 5AD vkSj AC 
– AD = 8 gSA vk;r ABCD dk {ks=kiQy gSA

A

C

B

D

	 (a)	 36

	 (b)	 50

	 (c)	 60

	 (d)	 70

	52.	tSlk fd uhps fp=k esa fn[kk;k x;k gS] pkj leku flDdksa 
dks ,d oxZ esa j[kk tkrk gSA çR;sd flDds {ks=kiQy ls 
ifjfèk dk vuqikr vkSj ifjfèk ls {ks=kiQy vuqikr cjkcj 
gSA oxZ ds ml {ks=kiQy dks çkIr tks flDdksa ls <dk 
ugha gS

	 (a)	 16(π&1)

	 (b)	 16@16&π)

	 (c)	 16(4&π)

	 (d)	 16(4&π@2)

	53.	2/5 ernkrkvksa us çR;k'kh A dks oksV nsus dk oknk fd;k 
vkSj ckdh us çR;k'kh B dks oksV nsus dk oknk fd;kA 
buesa ls 15» ernkrkvksa us çR;k'kh A dks oksV nsus 
ds vius okns dks rksM+ fn;k vkSj 25» ernkrkvksa us 
çR;k'kh B dks oksV nsus ds vius okns dks rksM+ fn;k 
çR;k'kh A 200 oksVks a ls gkj x;kA ernkrkvksa dh 
dqy la[;k gS

	 (a)	 10000

	 (b)	 11000

	 (c)	 9000

	 (d)	 9500
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Directions (Question Nos. 46 – 49) : Read the following 
excerpt and answer the questions asked at the end.

In a party, a square table with each edge measuring 200 
cm, is kept in the garden such that the four edges of the 
table are either parallel to North-South or East – West. 
Eight persons (P, Q, R, S, T, U, V and W) are sitting 
around this table facing the centre of the table. Four 
persons are sitting at the comers of the table and the 
remaining four are sitting at the centre of each of the 
edge of the table.

P and W are facing each other and the distance between 
them is the maximum possible distance between any two 
persons sitting around the table.

The directions referred in the data and questions below 
are with respect to absolute ones and are independent of 
the orientation of the individuals. Vis sitting North of 
Sand East of P. Ris sitting North of U and West of O.

	 46.	 The following two are sitting at equal distance to 
W

	 (a)	 S and Q

	 (b)	 V and S

	 (c)	 V and R

	 (d)	 V and Q

	 47.	 Who is sitting to the left of the person S?
	 (a)	 U

	 (b)	 P

	 (c)	 T

	 (d)	 W

	 48.	 The distance between W and R is equal to
	 (a)	 100

	 (b)	 200

	 (c)	 100√5

	 (d)	 100√2

	 49.	 Who of the following is/are sitting either North or 
South of T?

	 (a)	 Only Q

	 (b)	 Q and W

	 (c)	 Only R

	 (d)	 R and P

	 50.	 Cell phone usage has been steadily increasing in 
recent times. This definitely means that

	 (a)	 Cell phones have become cheap

	 (b)	 People started getting more income

	 (c)	 Many cell phone shops have opened

	 (d)	 Cel l  phone companies  g ive  many 
advertisements

	 51.	 In the figure below, AC + AB = 5AD and AC – AD 
= 8. The area of the rectangle ABCD is

A

C

B

D

	 (a)	 36

	 (b)	 50

	 (c)	 60

	 (d)	 70

	 52.	 As shown in the figure below, four identical coins 
are placed in a square. For each coin, the ratio of 
area to circumference is same as the ratio of 
circumference to arca. Find the area of the square 
that is not covered by the coins.

	 (a)	 16(π – 1)

	 (b)	 16(16 – π)

	 (c)	 16(4 – π)

	 (d)	 16/4 – π/2)

	 53.	 2/5 of the voters promise to vote for A and the rest 
promised to vote for B. Of these, on the last day 
15% of the voters went back of their promise to 
vote for A and 25% of voters went back of their 
promise to vote for B. A lost by 200 votes. Then, 
the total number of voters is

	 (a)	 10000	 (b)	 11000

	 (c)	 9000	 (d)	 9500
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	54.	,d daiuh esa 40» deZpkjh iq#"k gSa vkSj 75» iq#"k 
çfr o"kZ `25]000 ls vfèkd dekrs gSaA ;fn dEiuh ds 
45» deZpkjh çfr o"kZ ` 25,000 ls vfèkd dekrs gSa] 
rks daiuh esa dk;Zjr efgykvksa dk fdruk va'k çfr o"kZ 
` 25,000 ;k mlls de dekrk gS\

	 (a)	 2@11	 (b)	1@4

	 (c)	 1@31	 (d)	3@4

	55.	p vkSj q f}?kkr lehdj.k x2 – (α – 2)x -α-1 = 0 ds 
ewy gSa p2 + q2 dk U;wure laHko eku D;k gS\

	 (a)	 0	 (b)	3

	 (c)	 4	 (d)	5

	56.	vkids laxBu esa dsoy deZpkfj;ksa vkSj muds ifjokjksa 
ds fy, ,d çfl¼ xk;d ds laxhr dk;ZØe dk 
vk;kstu fd;k tk jgk gSA vkidk ,d nksLr ml xk;d 
dk ç'kald gS vkSj vkidks vius ifjokj ds lnL; ds 
:i esa ys tkus dk vuqjksèk djrk gSA vki D;k djsaxs\

	 (a)	 vki vius nksLr ls dgsaxs fd ;g dk;ZØe dsoy 
ifjokj ds lnL;ksa ds fy, gS vkSj og blesa 
'kkfey ugha gks ldrs

	 (b)	 vki vius nksLr dks vius ifjokj ds lnL; ds 
:i esa ys tk;saxs vkSj miÑr djsaxs

	 (c)	 vki fdlh nwljs cgkus ds }kjk vius fe=k dks 
ys tkus ls cpsaxs

	 (d)	 vuqxzg ekaxus ds dkj.k vki vius fe=k ls ckr 
ugha djsaxs

	57.	vkius osclkbV ls ,d Vhoh [kjhnkA ,slk gksrk gS fd 
iSfdax [kksyrsle; Vhoh fxj tkrk gS vkSj {kfrxzLr gks 
tkrk gSA vkidks cgqr T;knk foÙkh; uqdlku mBkuk iM+rk 
gSA vki D;k djsaxs\

	 (a)	 iSls okilh dk nkok djsaxs tSls fd Vhoh {kfrxzLr 
:i esa çkIr gqvk FkkA

	 (b)	 Vhoh j[ksaxs vkSj mls Bhd djus dk ç;kl djsaxs

	 (c)	 iSfdax eqíksa ds dkj.k gq, foÙkh; uqdlku ds fy, 
,d eqdnek ntZ djsaxs

	 (d)	 ml osclkbV ls fiQj dHkh Vhoh ugha [kjhnsaxs

	58.	vkidh dy ijh{kk gS vkSj U;wVu ds fu;e dks le>us 
dks vkidh enn ysus ds fy, vkidk ,d fe=k vkids 
?kj esa igqaprk gSA vki D;k djsaxs\

	 (a)	 viuh ek¡ ls dgsaxs vkids nksLr ls dgsa dh vki 
?kj ij ugha gSa

	 (b)	 vius nksLr ls feysaxs vkSj viuk le; rS;kjh ds 
fy, cpkus ds fy, mls crk,axs fd vki U;wVu 
ds fu;e dks ugha le>rs gSa

	 (c)	 vkids fe=k ds lkFk cSBdj U;wVu ds fu;e dks 
le>kus dk ç;kl djsaxs

	 (d)	 mls crk,axs fd U;wVu ds fu;e dks ijh{kk esa vk 
tkus ds ekeys esa mls udy dh vuqefr nsaxs

	59.	vki ,d Nk=kkokl ds okMZu gSaA tyiku x`g ds Bsdsnkj 
dks f'kdk;r dh gS fd dqN Nk=k vkokjk i'kqvksa dks 
tyiku x`g dk Hkkstu f[kykrs gSa ftlds fy, foÙkh; 
uqdlk mBkuk iM+rk gSA vki D;k djsaxs\

	 (a)	 fLFkfr dks 'kkar j[ksaxs vkSj fdlh vU; rjhds ls 
uqdlku HkjikbZ esa enn djsaxs

	 (b)	 tokc u nsdj f'kdk;r ls cpus dk ç;kl djsaxs 
rkfd dksbZ leL;k u gks

	 (c)	 lHkh Nk=kkokl ds fuokfl;ksa dks vkokjk tkuoj 
ds Hkkstu O;; dks ysus ds fy, vfrfjDr 'kqYd 
yxk,axs

	 (d)	 ekeys dh tk¡p djsaxs vkSj mUgsa xSjdkuwuh 
xfrfofèk;k¡ djus ls jksdsaxs

	60.	,d uko èkkjk ds çfrdwy 15 fd-eh- dh nwjh 5 ?kaVs 
esa r; djrh gSA og uko ogh nwjh èkkjk ds vuqdwy 
fdrus ?kaVksa esa r; djsxh] ;fn 'kkar ty esa èkkjk dh 
xfr uko dh xfr dh ,d pkSFkkbZ gS\

	 (a)	 1-8	 (b)	3

	 (c)	 4	 (d)	5

	61.	èkkjk ds çokg dh xfr 1 fd-eh- çfr ?kaVs gSA ,d eksVj 
uko èkkjk ds çfrdwy 35 fd-eh- ;k=kk djrh gS vkSj 
12 ?kaVs esa 'kq#vkrh fcanq ij okil ykSV tkrh gSA 'kkar 
ty esa eksVj uko dh xfr (fd-eh- çfr ?kaVs esa) D;k 
gS\

	 (a)	 8

	 (b)	 6

	 (c)	 7-5

	 (d)	 5-5

	62.	;fn 1.5x = 0.04y gS] rks ((y – x) / (y + x)) dk eku 
gksxk

	 (a)	 73@77

	 (b)	 7-3@77

	 (c)	 730@77

	 (d)	 7300@77

	63.	3 × 0.3 × 0.03 × 0.003 × 30 dk eku gksxk
	 (a)	 0-0000243

	 (b)	 0-000243

	 (c)	 0-00243

	 (d)	 0-0243



15

	 54.	 40% employees of a company are men and 75% 
of the men earn more than ₹25,000 per year. If 
45% of the company’s employees earn more than 
₹25,000 per year, what fraction of the women 
employed by the company earn ₹25,000 or less per 
year?

	 (a)	 2/11
	 (b)	 1/4
	 (c)	 1/3
	 (d)	 3/4
	 55.	 Let p and q be the roots of the quadratic equation 

x2 – (α – 2)x -α-1 =0. What is we minimum possible 
value of p2 + q2?

	 (a)	 0
	 (b)	 3
	 (c)	 4
	 (d)	 5
	 56.	 A musical event of a famous singer is being 

organised only for the employees of your 
organization and their families. One of your friend 
is a fan of this singer and requests take him as your 
family member. What will you do?

	 (a)	 You will tell your friend that the event e 
strictly for the family members and that he 
cannot attend

	 (b)	 You will oblige your friend by asking him 
to pretend as your family member

	 (c)	 You will avoid taking your friend by making 
some other excuse

	 (d)	 You will not talk to your friend for asking a 
favour

	 57.	 You ordered a TV from a website. It so happens 
that the TV falls down while unpacking and gets 
damaged. You incur significant financial loss. What 
would you do?

	 (a)	 File a refund pretending as if the TV was 
received as damaged piece

	 (b)	 Keep the TV and try to get it fixed
	 (c)	 File a lawsuit for financial loss due to 

packing issues
	 (d)	 Never buy a TV from that website
	 58.	 You have an exam tomorrow and a friend of yours 

approaches you at your home for help to understand 
Newton’s law. What will you do?

	 (a)	 Ask your mother to tell your friend that you 
are not at home

	 (b)	 Meet your friend and tell him that you don’t 
understand Newton’s law to save your time 
for preparation

	 (c)	 Sit with your friend and try to explain 
Newton’s law to him

	 (d)	 Tell him that you will let him copy in case 
Newton’s law is asked in the exam

	 59.	 You are a warden of a hostel. The mess contractor 
files a complains that some students take mess food 
to feed the stray animals incurring financial losses 
to him. What will you do?

	 (a)	 Will pacify the situation and help in making 
up losses in some other way

	 (b)	 Will try to avoid the complaint by not 
responding so that there is no problem

	 (c)	 Will levy additional charges of ally hostel 
residents to take care of food expenses of 
stray animals

	 (d)	 Will investigate the matter and forbid them 
from doing illegal activities

	 60.	 A boat sails 15 km of a river towards upstream in 
5 hours. How long (in hours) will it take to cover 
the same distance downstream, if the speed of river 
is one-fourth the speed of the boat in still water?

	 (a)	 1.8
	 (b)	 3
	 (c)	 4
	 (d)	 5
	 61.	 The stream flows at 1 kmph. A motor boat goes 35 

km upstream and back to the starting point in 12 
hours. The speed of the motor boat (in kmph) in 
still water is

	 (a)	 8
	 (b)	 6
	 (c)	 7.5
	 (d)	 5.5
	 62.	 If 1.5x = 0.04y, then the value of ((y – x) / (y + x)) 

is
	 (a)	 73/77
	 (b)	 7.3/77
	 (c)	 730/77
	 (d)	 7300/77
	 63.	 What would be the value of 3 × 0.3 × 0.03 × 0.003 

× 30?
	 (a)	 0.0000243	 (b)	 0.000243
	 (c)	 0.00243	 (d)	 0.0243
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	64.	uhps fn[kk, x, ç'u fpUg (?) ds fy, lgh mÙkj irk 
yxk,¡A

15

10

6

?

	 (a)	 23	 (b)	32

	 (c)	 12	 (d)	14

	65.	J`a[kyk tkjh j[kus ds fy, uhps fn[kk, x, ç'u fpUg 
(?) ds fy, fodYiksa esa ls lgh fp=k dh igpku djsa

?

	 (a)	 	 (b)	

	 (c)	 	 (d)	

	66.	vki ,d Nk=kkokl ds çcaèkd gSaA lsesLVj dh 'kq#vkr 
esa u, Nk=kksa ds HkrhZ gksus dh laHkkouk gSA vki D;k 
djsaxs\

	 (a)	 ekStwnk leL;kvksa ds ckjs esa vfèkdkfj;ksa dks 
crk,axs

	 (b)	 ekStwnk leL;kvksa ds ckjs esa vfèkdkfj;ksa dks 
crk,axs vkSj u, fo|kfFkZ;ksa ds vkus ls igys mUgsa 
Bhd djokus dk ç;kl djsaxs

	 (c)	 çR;kf'kr vkSj ekStwnk leL;kvksa ds ckjs esa 
vfèkdkfj;ksa dks crk,axs vkSj u, fo|kfFkZ;ksa ds 
vkus ls igys mUgsa Bhd djokus dk ç;kl djsaxs

	 (d)	 u, fo|kfFkZ;ksa ds vkus dk vkSj leL;kvksa dh 
f'kdk;r djus dk bartkj djsaxs

	67.	vki ,d cgqeaftyk vikVZesaV esa jgrs gSaA vkids iM+kslh 
ds 'kkSpky; esa ikuh Vidrk gS] tks vkids vikVZesaV ds 
'kkSpky; ds uhps gSA fjlko vkids 'kkSpky; ls mRiUu 
yxrk gSA uylkt vkids iM+kslh dh leL;k dk lekèkku 
djus vkrk gSA vki D;k djsaxs\

	 (a)	 mls vkidks ijs'kku ugha djus ds fy, dgsaxs

	 (b)	 mls vanj yk,axs vkSj leL;k dks gy djus nsaxs

	 (c)	 mls ,d lIrkg ds var esa vkus ds fy, dgsaxs 
D;ksafd blesa cgqr le; yxsxk vkSj vkidks dke 
djuk gS

	 (d)	 vius 'kkSpky; esa ejEer dh vuqefr nsaxs] tcfd 
vkidk iM+kslh ejEer dk O;; ogu djsxk

	68.	vkidks vius cSad ykWfxu vkSj ikloMZ dh iwN&rkN ds 
fy, ,d bZ&esy çkIr gksrk gSA vki D;k djsaxs\

	 (a)	 tYn ls tYn viuk cSad fooj.k Hkst nsaxs

	 (b)	 bZ&esy dks gVk nsaxs vkSj Hkwy tk,axs

	 (c)	 ;g tkuus ds fy, mÙkj nsaxs fd mUgsa cSad ykWfxu 
vkSj ikloMZ lR;kfir djus dh vko';drk D;ksa 
gS

	 (d)	 çs"kd dks tokc ugha nsaxs vkSj lacafèkr vfèkdkjh@
çkfèkdj.k dks bZ&esy vxzsf"kr djsaxs

	69.	vki lM+d ij iSd fd, x, ikuh dh cksry [kjhnrs 
vkSj cksry [kkyh dj nsrs gSaA vki D;k djsaxs\

	 (a)	 cksry j[ksaxs vkSj ,d dpjk nku esa iQsad nsaxs

	 (b)	 vki pyrs&pyrs gh mls iQsad nsaxs

	 (c)	 mls ukyh esa iQsad nsaxs

	 (d)	 ,d xans LFkku dks <w¡< dj mls ogk¡ iQsad nsaxs

	70.	vkidk fdlh ds lkFk erHksn gS] vki fouezrk O;Dr 
djsaxs\

	 (a)	 rqe xyr gks!

	 (b)	 vki cdokl cksyrs gSa

	 (c)	 vki blds ckjs esa ugha tkurs

	 (d)	 eSa vkidh jk; ls lger ugha gw¡

	71.	lhèkh js[kk esa [kM+s dqN Nk=kksa dh d{kk esa] jke dh 
fLFkfr ck,¡ Nksj ls 11osa vkSj nkfgus Nksj ls 41osa LFkku 
ij gS d{kk esa fdrus Nk=k gSa\

	 (a)	 50

	 (b)	 51

	 (c)	 52

	 (d)	 53

	72.	yxHkx lHkh ns'kksa dh ljdkjksa ds çeq[kksa us tyok 
ifjorZu ds eqís ds lekèkku ds fy, dbZ t:jh igj 
djus dk iQSlyk fd;k gSA ;g n'kkZrk gS fd

	 (a)	 iwoZ esa dksbZ dne ugha mBk, x, Fks

	 (b)	 iwoZ esa mBk, x, dne cgqr vPNs Fks

	 (c)	 tyok;q ifjorZu ds çHkko vkt vfèkd xaHkhj 
gSa

	 (d)	 vc ljdkjksa ds çeq[kksa ij vuko';d ncko gSA
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	 64.	 Find out the right answer for the question, mark 
(?) shown below.

15

10

6

?

	 (a)	 23

	 (b)	 32

	 (c)	 12

	 (d)	 14

	 65.	 Identify the right figure from the given multiple 
choices for the question mark (?) shown below to 
continue the series.

?

	 (a)	

	 (b)	

	 (c)	

	 (d)	

	 66.	 You are a hostel manager. New students are 
expected to join at the start of the semester. What 
will you do?

	 (a)	 Will apprise the authorities about the 
prevailing problems

	 (b)	 Will apprise the authorities about the 
prevailing problems and try to get them fixed 
before the new students arrive

	 (c)	 Will apprise the authorities about anticipated 
and prevailing problems and try to get them 
fixed before the new students arrive

	 (d)	 Will wait for the new students to arrive and 
report the problems

	 67.	 You live in a multi-storied apartment. There is 
water seepage in the toilet of your neighbour, 
which is just below your toilet. The seepage seems 
to originate from your toilet. A plumber visits to 
fix your neighbours problem. What will you do?

	 (a)	 Will ask him not to bother you
	 (b)	 Will let him in and fix the problem
	 (c)	 Will ask him to come on a weekend as it 

would take a lot of time and that you have 
work to do

	 (d)	 Will allow the repair to be done in your toilet 
provided your neighbor bears the repair cost

	 68.	 You receive an e-mail asking for your bank login 
and password. What will you do?

	 (a)	 Will send your bank details at the earliest
	 (b)	 Will delete the e-mail and forget about
	 (c)	 Will reply to know why they need to verify 

the bank login and password
	 (d)	 will not respond to the sender and forward 

the e-mail to the concerned authority
	 69.	 You buy a bottle of packed water on a street and 

end up cmptying the bottle. What will you do?
	 (a)	 Will keep the bottle and dispose in a garbage 

bin
	 (b)	 Will throw it as you go along
	 (c)	 Will throw it in a drain
	 (d)	 Will find a dirty place and throw it there
	 70.	 You have a difference of opinion with somebody, 

how you would express most humbly?
	 (a)	 You are wrong!
	 (b)	 You speak rubbish
	 (c)	 You don’t know about it
	 (d)	 I don’t agree with your opinion
	 71.	 In a class of some students standing in a straight 

line, the position of Ramu is 11th from left end and 
41st from right end. How many students are there 
in the class?

	 (a)	 50	 (b)	 51
	 (c)	 52	 (d)	 53
	 72.	 Heads of governments of almost all the countries 

have decided to take many urgent initiatives to 
address the climate change issue. This shows that

	 (a)	 There were no steps taken in the past
	 (b)	 The steps taken in the past were very good
	 (c)	 The effects of climate change are more 

severe today
	 (d)	 There is unnecessary pressure on the heads 

of governments now
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	73.	Ldwy ds u, çèkkukpk;Z us Ldwy esa çR;sd Nk=k ls 
fu;fer :i ls ;ksx djus dk vkxzg fd;k gSA ;g crkrk 
gS fd

	 (a)	 çèkkukpk;Z dk ekuuk gS fd ;ksx i<+kbZ ds ftruk 
gh egRoiw.kZ gS

	 (b)	 muds }kjk çèkkukpk;Z dk inHkkj laHkkyus ls igys 
lHkh Nk=k ;ksx dj jgs Fks ysfdu fu;fer :i 
ls ugha

	 (c)	 muds inHkkj laHkkyus ls igys dksbZ ;ksxkH;kl 
ugha djrs Fks

	 (d)	 mUgsa yxrk gS fd ;ksx cPpksa ds 'kkjhfjd vkSj 
ekufld LokLF; ds fy, vPNk gS

	74.	A, B dh cgu gSA C, B dh ek¡ gSA D, C dk firk gSA 
E, D dh ek¡ gSA rks A, D ls dSls lacafèkr gS\

	 (a)	 nknk

	 (b)	 csVks

	 (c)	 nknks

	 (d)	 iksrks

	75.	bankSj ls mTtSu tkrs le; ,d dSc dh vkSlr xfr 60 
fd-eh-@?kaVk gksrh gS vkSj mTtSu ls bankSj dh leku nwjh 
ij ykSVus ds nkSjku X fd-eh-@?kaVk dh vkSlr xfr gksrks 
gSA ;fn iwjh ;k=kk ds fy, dSc dh vkSlr xfr 48 
fd-eh-@?kaVk gS] rks X dk eku gS

	 (a)	 45 fd-eh-@?kaVk

	 (b)	 40 fd-eh-@?kaVk

	 (c)	 36 fd-eh-@?kaVk

	 (d)	 30 fd-eh-@?kaVk

funZs'k (ç'u Ø- 76&80)% fuEufyf[kr ys[kka'k dks if<+;s 
vkSj var esa fn;s x;s ç'uksa ds mÙkj nhft;sA ç'uksa ds mÙkj 
ys[kka'k ij vkèkkfjr gksus pkfg;sA

bl ckr ds çek.k c<+ jgs gSa fd mYdkfiaM dk i`Foh ls 
Vdjko i`Foh ij egÙoiw.kZ çHkko Mkyrs gSa] fo'ks"k :i ls 
tSfod fodkl ds {ks=k esaA bl rjg ds Vdjko i`Foh ij thou 
ds fy, ,d çkÑfrd [krjk tkjh j[krs gSaA ;g tkudkjh Li"V 
gS fd chloha 'krkCnh esa nks ckj] cM+h mYdkfiaM i`Foh ls 
VdjkbZ gSA ;fn dksbZ Vdjko dkiQh cM+k gS] rks ;g iwjs i`Foh 
ds i;kZoj.k dks vLr O;Lr dj ldrk gS vkSj ikfjfLFkfrdh; 
vkink dk dkj.k cu ldrk gSA çek.kksa ds vuqlkj Hkw&bfrgkl 
ds ØsVsfl;l dky ds var esa ,slk Vdjko 65 fefy;u o"kZ 
igys gqvk FkkA i`Foh ds bfrgkl esa ;g varjky vusd cM+s 
tarqvksa ds foyqIr gksus ls fpfÉr gS] tc xzg ij ik;h tkus 
okyh vkèkh çtkfr;k¡ foyqIr gks xbZ FkhA gkyk¡fd HkwxHkhZ; 
fjdkWMZ esa ,d ntZu ;k vfèkd cM+s foyqIr gksus ds çek.k gSa] 
ØsVsfl;l egkfoyqIrhdj.k ges'kk thok'efoKkfuvksa dks 

vkdf"kZr djrk gS D;ksafd ;g Mk;uklksj ds ;qx ds var dks 
fpfÉr djrk gSA yk[kksa o"kks± ls] mu fo'kky çkf.k;ksa dk fodkl 
gqvk FkkA fiQj] vpkud] os xk;c gks x,A ØsVsfl;l dky ds 
var esa i`Foh ij Vdjkus okyk ,d fVªfy;u Vu vkSj de ls 
de 10 fdyksehVj O;kl ds æO;eku dk ,d mYdkfiaM FkkA 
oSKkfudksa us lcls igys] xzg dks <dus okys èkwy ckny ls 
tek ryNV dh fo'oO;kih ijr ls 1980 esa bl çHkko dh 
igpku dhA ;g ryNV ijr nqyZHk èkkrq bfjfM;e vkSj vU; 
rÙoksa ls le`¼ gS] tks ,d mYdkfiaM esa vis{kkÑr çpqj ek=kk 
esa gksrs gSa ysfdu i`Foh dh ijr esa cgqr nqyZHk gSaA ;gk¡ rd 
fd ØsVj dh [kqnkbZ ds ckn LFkyh; lkexzh esa fefJr gks tkus 
ds ckn Hkh mYdkfiaM ds bl ?kVd dks vklkuh ls igpkuk 
tkrk gSA 1990 rd HkwxfHkZdksa us eSfDldks ds ;wdkVu {ks=k esa 
bl mYdkikr ds LFkku dks [kkstk FkkA ØsVj vFkok fo'kky 
xîók tks vc ryNV esa xgjkbZ ls niQu gks x;k gS] ewy :i 
ls yxHkx 200 fdyksehVj O;kl dk FkkA

	76.	ys[kd us Mk;uklksj ds yk[kksa o"kks± esa fodflr gksus vkSj 
fiQj vpkud xk;c gksus dh tkudkjh dks D;ksa 'kkfey 
fd;k gS\

	 (a)	 ;g le>kus ds fy, fd D;ksa thok'eoSKkfud 
ØsVsfl;l dky ds var esa gq;s egkfoyqIrhdj.k 
ds fo"k; esa tkuus ds fy;s ges'kk mRlqd gksrs gSa

	 (b)	 bl nkos dk leFkZu djus ds fy, fd ØsVsfl;l 
dky ds var esa gqvk cM+k foyqIrhdj.k ntZu ;k 
vfèkd ,sls foyqIrhdj.k esa ls lcls vfèkd 
lgstk gqvk HkwxHkhZ; çek.k gS

	 (c)	 ;g le>kus ds fy, fd D;ksa vkSj dSls ml le; 
i`Foh dh çtkfr;ksa esa ls vkèkh ØsVsfl;l dky 
ds var esa foyqIr gks xbZ gSa

	 (d)	 ;g lcwr çnku djus ds fy, fd iwjs xzg ds 
i;kZoj.k dks vLr O;Lr djus vkSj ikfjfLFkfrdh; 
vkink ds fy;s ,d Vdjko dkiQh cM+k gks ldrk 
gS

	77.	eSfDldks esa mYdkfiaMVdjko ds LFkku ds ckjs esa 
fuEufyf[kr esa ls dkSu&lk vuqeku yxk;k tk ldrk 
gS\

	 (a)	 HkwxfHkZdksa dks mYdkikr ds ckjs esa irk Fkk ;g 
tkuus ds igys fd og dgk¡ gqvk Fkk

	 (b)	 eSfDldks ds mYdkikr dk LFkku HkwxfHkZdksa }kjk 
1980 ls 1990 rd xqIr j[kk x;k Fkk

	 (c)	 ;g ,d çfl¼ rF; Fkk fd ;wdkVu {ks=k esa 
Vdjko gqvk Fkk

	 (d)	 ;wdkVu {ks=k dks HkwxfHkZdksa }kjk mlds tyok;q 
dh otg ls lcls laHkkfor mYdkikr ds LFkku 
ds :i esa pquk x;k Fkk
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	 73.	 The new Principal of the school has urged each 
student in the school to do yoga on a regular basis. 
This implies that

	 (a)	 The Principal thinks that yoga is as important 
as studies

	 (b)	 All students were doing yoga but not 
regularly before he took over as Principal

	 (c)	 There was no yoga practice before he took 
charge

	 (d)	 He feels that yoga is good for physical and 
mental health of the children

	 74.	 A is B’s sister. C is B’s mother. D is Cs father. E 
is D’s mother. Then, how is A related to D?

	 (a)	 Grandfather
	 (b)	 Daughter
	 (c)	 Grandmother
	 (d)	 Granddaughter
	 75.	 A cab has an average speed of 60 km/hr while 

going from Indore to Ujjain and has an average 
speed of X km/hr while returning the same distance 
from Ujjain to Indore. If the average speed of the 
cab for the whole journey is 48 km/hr, the value 
of X is

	 (a)	 45 km/hr
	 (b)	 40 km/hr
	 (c)	 36 km/hr
	 (d)	 30 km/hr
Directions (Question Nos. 76 – 80) :  Read the following 
excerpt and answer the questions asked at the end. The 
answers to the questions should be based on the excerpt.
There is increasing evidence that the impacts of 
meteorites have had important effects on Earth, 
particularly in the field of biological evolution. Such 
impacts continue to pose a natural hazard to life on Earth. 
Twice in the twentieth "century, large meteorite objects 
are known to have collided with Earth. If an impact is 
large enough, it can disturb the environment of the entire. 
Earth and cause an ecological catastrophe. The best 
documented such impact took, place 65 million years 
ago at the end of the. Cretaceous period of geological 
history. This break in Earth's history. This break in Earth's 
history is marked by a mass extinction, when as many 
as half the species on the planet became extinct. While 
there are a dozen or more mass extinctions in the 
geological record, the Cretaceous mass extinction has 
always intrigued paleontologists because it marks the 
end of the age of the dinosaurs. For tens of millions of 

years, those great creatures had flourished. Then, 
suddenly, they disappeared. The body that impacted 
Earth at the end of the Cretaceous period was a meteorite 
with a mass of more than a trillion tons and a diameter 
of at least 10 kilometers. Scientists first identified this 
impact in 1980 from the worldwide layer of sediment 
deposited from the dust cloud that enveloped the planet 
after the impact. This sediment layer is enriched with 
the rare metal Iridium and other elements that are 
relatively abundant in a meteorite but very rare in the 
crust of Earth. Even diluted by the terrestrial material 
excavated from the creator, this component of meteorites 
is easily identified. By 1990, geologists had located the 
impact site itself in the Yucatan region of Mexico. The 
creator, now deeply buried in sediment, was originally 
about 200 kilometers in diameter.
	 76.	 Why does the author include the information that 

dinosaurs had flourished for tens of millions of 
years and then suddenly disappeared?

	 (a)	 To explain why paleontologists have always 
been intrigued by the mass extinction at the 
end of the Cretaceous period

	 (b)	 To support the claim that the mass extinction 
at the end of the Cretaceous period is the 
best-documented of the dozen or so mass 
extinctions in the geological record

	 (c)	 To explain why and how as many as half of 
the species on Earth at the time are believed 
to have become extinct at the end of the 
Cretaceous period

	 (d)	 To provide evidence that an impact can be 
large enough to disturb the environment of 
the entire planet and cause an ecological 
disaster

	 77.	 Which of the following can be inferred about the 
location of the meteorite impactin Mexico?

	 (a)	 Geologists knew that there had been an 
impact before they knew where it had 
occurred

	 (b)	 The location of the impact site in Mexico 
was kept secret by geologists from 1980 to 
1990

	 (c)	 It was a well-known fact that the impact had 
occurred in the Yucatán region

	 (d)	 The Yucatán region was chosen by geologists 
as the most probable impact site because of 
its climate
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	78.	fuEufyf[kr esa ls fdl rF; ds vkèkkj ij oSKkfudksa us 
;g fu"d"kZ fudkyk fd ,d cM+k mYdkfiaM i`Foh ls 
Vdjk;k Fkk\

	 (a)	 mUgksaus eSfDldks ds ;wdkVu {ks=k esa ,d cM+k ØsVj 
[kkstk

	 (b)	 mUgsa ryNV dh ,d ijr feyh

	 (c)	 os iqjkrRofonksa }kjk ;wdkVu {ks=k esa dh tkus okyh 
[kqnkbZ ls lrdZ gks x;s Fks -

	 (d)	 ik, x, ryNV esa çpqj ek=kk esa bfjfM;e miyCèk 
Fkk

	79.	ifjPNsn esa ¶mRlqd¸ 'kCn dk rkRi;Z gS

	 (a)	 gSjku	 (b)	lkaB&xkaB

	 (c)	 my>u	 (d)	eksfgr

	80.	lcls vPNk mÙkj pqusa % oSKkfudksa us ØsVsfl;l dky 
ds var esa gq;s egkfoyqIrhdj.k dks mYdkikr ds çHkko 
ls tksM+k gS D;ksafd

	 (a)	 ,slk ekuk tkrk gS fd mYdk xfrfofèk i`Foh ij 
fodkl dks çHkkfor djrh gS

	 (b)	 ØsVsfl;l dky ds var esa gq;s ,d cM+s mYdkikr 
ds LFkku dh igpku 1990 esa gqbZ Fkh

	 (c)	 paæek dh lrg ij Hkh cM+s mYdkikr ls ØsVj 
cus gSa

	 (d)	 cM+s mYdkfiaM Vdjko] tSls fd ØsVsfl;l dky 
ds var esa gqvk] tyok;q] ikfjfLFkfrdh;] ikSèkksa 
vkSj tkuojksa dks xaHkhj :i ls çHkkfor dj ldrk 
gS

funZs'k (ç'u la- 81 ls 85)% fn, x, x|ka'k ds vkèkkj ij 

fuEufyf[kr ç'uksa ds mÙkj nhft,A

x|ka'k&1

iqjk.kkuqlkj J`axh ½f"k ds 'kki ds dkj.k r{kd ukx us jktk 

ijhf{kr dks Mlk Fkk] ftlls mudh e`R;q gks xbZA blls Øq¼ 

gksdj çfr'kksèk dh Hkkouk ls mlds iq=k tuest; us liZ;K 

fd;kA ea=kkgwr gksdj liZ ;Kdq.M esa vk&vkdj fxjus yxsA 

blh chp oklqfd dh cgu ukx dU;k] tjRdkr dk iq=k vkLrhd 

vkdj tuest; vkSj mlds ;K vuq"Bku dh NyiwoZd ç'kalk 

djus yxkA mlls çlUu gksdj tuest; us mlls oj ek¡xus dks 

dgkA ½fRotksa us jktk dks oj nsus ls euk fd;kA r{kd ea=kkgwr 

gksdj e.Mi ds ikl vk gh x;k Fkk fd rHkh vkLrhd us oj 

ek¡xk fd ;K cUn dj fn;k tk,A cpu c¼ gksdj tuest; 

dks ;K cUn dj nsuk iM+k vkSj tuest; dks bldk i'pkrki 

cuk jgk fd og vius firk dh e`R;q dk cnyk u ys ldkA 

okLrfod 'k=kq r{kd cp gh x;kA

	 78.	 Which one of the following led the scientists to 
conclude that a large meteorite had impacted 
Earth?

	 (a)	 They discovered a large crater in the Yucatán 
region of Mexico

	 (b)	 They found a layer of sediment
	 (c)	 They were alerted by archaeologists who 

had been excavating in the Yucatán region
	 (d)	 The sediments found were enriched with 

Iridium
	 79.	 The word “intrigued” in the passage implies
	 (a)	 Puzzled
	 (b)	 Colluded
	 (c)	 Confused
	 (d)	 Fascinated
	 80.	 Choose the best answer : Scientists have linked the 

mass extinction at the end of the Cretaceous period 
with a meteorite impact on Earth because

	 (a)	 It is believed that meteorite activity 
influences the evolution on Earth

	 (b)	 The site of a large meteorite impact at the 
end of the Cretaceous period was identified 
in 1990

	 (c)	 There have also been large meteorite impacts 
on the surface of the Moon, leaving craters

	 (d)	 Large meteorite impacts, such as one at the 
end of the Cretaceous period, can seriously 
affect climate, ecological niches, plants and 
animals

	81.	ijhf{kr dks fdl ½f"k us 'kki fn;k Fkk\

	 (a)	 xxZ	 (b)	Hkkj}kt

	 (c)	 of'k"B	 (d)	J`axh

	82.	tuest; us dkSu&lk ;K fd;k\

	 (a)	 liZ;K	 (b)	fo".kq;K

	 (c)	 lkse;K	 (d)	egk#æ ;K

	83.	tuest; ds ;K dh ç'kalk fdlus dh\

	 (a)	 J`axh ½f"k	 (b)	vkLrhd

	 (c)	 'kqdnso	 (d)	ukjn

	84.	tuest; dks oj nsus ls fdlus euk fd;kA

	 (a)	 eqfu;ksa us	 (b)	O;klth us

	 (c)	 ½fRotksa us	 (d)	nsoksa us

	85.	tuest; ds firk dk uke D;k Fkk\

	 (a)	 ijhf{kr	 (b)	vtZqu

	 (c)	 tjRdkr	 (d)	vfHkeU;q
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funZs'k (ç'u la- 86 ls 90)% fn, x, x|ka'k ds vkèkkj ij 
fuEufyf[kr ç'uksa ds mÙkj nhft,A

x|ka'k&2

jktk n'kjFk ds rhu fookg gksus ij Hkh muds ;gk¡ dksbZ 
mÙkjkfèkdkjh ugha gqvkA jktk ds okuçLFk dk le; lehi vkrk 
tk jgk Fkk] mudh fpUrk c<+rh tk jgh FkhA bl gsrq mUgksaus 
½f"k&eqfu;ksa ls laidZ dj mik; gsrq lykg djuk vkjaHk dj 
fn;kA egf"kZ of'k"B us muls dgk&jktu vkidh dqy&ijEijk 
esa iwoZ esa Hkh bl çdkj dk le; vk pqdk gSA egkjkt fnyhi 
dks tc larku çkfIr ugha gqbZ Fkh] rc mUgksaus Hkh vk;qoZsn ds 
vkpk;ks± dks cqykdj iq=k ;K djk;k Fkk] ftlds ifj.kkeLo:i 
vkids dqy firk j?kq dk tUe gqvk FkkA vc iqu% ogh ifjfLFkfr 
mRiUu gqbZ gSA vki iq=k ;K dk vk;kstu djsaA vkidks vo'; 
lq[kn iQy çkIr gksxkA orZeku esa vkids gh nkekn egf"kZ J`axh 
vk;qoZsnkpk;Z o ;Kksa ds Kkrk gSA ge mUgsa gh vkeaf=kr dj 
;K dk vk;kstu djsa] rc Js"B gksxkA

	86.	jktk n'kjFk ds fdrus fookg gq,\

	 (a)	 lkr	 (b)	rhu

	 (c)	 pkj	 (d)	ik¡p

	87.	egf"kZ of'k"B us jktk n'kjFk dks D;k lykg nh\

	 (a)	 iq=k ;K djus dh	 (b)	lU;kl ysus dh

	 (c)	 okuçLFk dh	 (d)	lkse;K djus dh

	88.	egf"kZ of'k"B us ;K djkus ds fy, fdl egf"kZ dk uke 
lq>k;k\

	 (a)	 fo'okfe=k	 (b)	J`axh

	 (c)	 Hkkj}kt	 (d)	ikjk'kj

	89.	jktk n'kjFk us fdlls lykg ysuk vkjaHk fd;k\

	 (a)	 eaf=k;ksa ls	 (b)	lHkklnksa ls

	 (c)	 ½f"k eqfu;ksa ls	 (d)	T;ksfrf"k;ksa ls

	90.	jktk n'kjFk ds dqy firk dkSu Fks\

	 (a)	 tud	 (b)	j?kq

	 (c)	 ijhf{kr	 (d)	tuest;

funZs'k (ç'u la- 91 ls 95)% fn, x, x|ka'k fuEufyf[kr 
ç'uksa ds mÙkj nhft,A

x|ka'k&3

lkfgR;ksufr ds lkèkuksa esa iqLrdky;ksa dk LFkku vR;Ur egRoiw.kZ 
gSA buds }kjk lkfgR; ds thou dh j{kk] iqf"V vkSj vfHko`f¼ 
gksrh gSA iqLrdky; lH;rk ds bfrgkl dk thrk&tkxrk xokg 
gSA blh ds cy ij orZeku Hkkjr dks vius vrhr xkSjo ij 
xoZ gSA iqLrdky; Hkkjr ds fy, dksbZ u;h oLrq ugha gSA fyfi 
ds vkfo"dkj ls vkt rd yksx fujUrj iqLrdksa dk laxzg djrs 
jgs gSA igys nsoky;] fo|ky; vkSj u`iky; bu laxzgksa ds çeq[k 
LFkku gksrs FksA buds vfrfjDr] fo}Ttuksa ds vius futh 

iqLrdky; Hkh gksrs FksA eqæ.kdyk ds vkfo"dkj ls iwoZ iqLrdksa 
dk laxzg djuk vktdy dh rjg ljy ckr u FkhA vktdy 
lkèkkj.k fLFkfr ds iqLrdky; esa ftruh lEifÙk yxrh gSa] mruh 
mu fnuksa dHkh&dHkh ,d&,d iqLrd dh rS;kjh esa yx tk;k 
djrh FkhA Hkkjr ds iqLrdky; lalkj Hkj esa viuk lkuh ugha 
j[krs FksA çkphu dky ls ysdj eqxy lezkVksa ds le; rd 
;gh fLFkfr jghA phu] iQkjl çHk`fr lqnwj fLFkr ns'kksa ds >q.M 
fo|kuqjkxh yEch ;k=kk,¡ djds Hkkjr vk;k djrs FksA

	91.	iqLrdky;ksa ds }kjk fdlds thou dh j{kk] iqf"V vkSj 
vfHko`f¼ gksrh gS\

	 (a)	 lkfgR; dh	 (b)	èkeZ dh

	 (c)	 jktuhfr dh	 (d)	lekt dh

	92.	lkfgR; dh mUufr ds lkèkuksa esa egRoiw.kZ LFkku fdldk 
gS\

	 (a)	 nsoky;	 (b)	fo|ky;

	 (c)	 u`iky;	 (d)	iqLrdky;

	93.	lH;rk ds bfrgkl dk thrk&tkxrk xokg gS

	 (a)	 iqLrdky;	 (b)	u`iky;

	 (c)	 nsoky;	 (d)	fo|ky;

	94.	eqæ.k dyk ds vkfo"dkj ds igys dkSu&ls dk;Z dfBu 
Fkk\

	 (a)	 iqLrdksa dk ys[ku

	 (b)	 ys[ku ds lkèku tqVkuk

	 (c)	 iqLrdksa dk laxzg

	 (d)	 iBu&ikBu

	95.	mi;ZqDr x|ka'k dk mfpr 'kh"kZd gS

	 (a)	 iqLrdky; vkSj Hkkjr

	 (b)	 iqLrdky; vkSj fo|ky;

	 (c)	 iqLrdky; vkSj nsoky;

	 (d)	 iqLrdky; vkSj u`iky;

funZs'k (ç'u la- 96 ls 100)% fn, x, x|ka'k ds vkèkkj% 
fuEufyf[kr ç'uksa ds mÙkj nhft,A

x|ka'k&4

Hkhy ,d fuèkZu tutkfr gSA budk eq[; O;olk; Ñf"k gSA 
blds vfrfjDr [ksrksa esa etnwjh] i'kqikyu] taxyh oLrqvksa dk 
foØ; rFkk 'kgjksa esa Hkou fuekZ.k esa fngkM+h etnwjh ij dke 
dj viuh thou uS;k pykrs gSaA Hkhyksa dh vkfFkZd foiUurk 
dk ,d çeq[k dkj.k vk; ls vfèkd O;; djuk gSA Hkhy oèk 
ewY; :ih iRFkj ls caèkh 'kjkc ds vFkkg lkxj esa Mwcrh tk 
jgh tutkfr gSA Åij ls lkgwdkjksa o egktuksa }kjk fn, x, 
½.k dk c<+rk C;kt bl leUnj esa cc.Mj dk dke djrk 
gS] ftlds dqpØ ls ;s yksx dHkh ckgj ugha fudy ikrsA 
Hkhyksa dh vkijkfèkd ço`fÙk dk Hkh ,d çeq[k dkj.k ;g gS 
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fd lkekU; vk; ls viuh nsunkfj;k¡ iwjh ugha dj ikrsA iQyr% 
èku miktZu dh vk'kk esa xSj oSèkkfud rFkk vuSfrd dkeksa esa 
Hkh lafyIr gks tkrs gSaA

	96.	Hkhy tutkfr dk eq[; O;olk; D;k gS\

	 (a)	 O;kikj	 (b)	Ñf"k

	 (c)	 i'kqikyu	 (d)	etnwjh

	97.	Hkhyksa dh vkfFkZd foiUurk dk çeq[k dkj.k D;k gS\

	 (a)	 vdeZ.;rk

	 (b)	 dkepksjh

	 (c)	 vkyL;

	 (d)	 vk; ls vfèkd O;; djuk

	98.	Hkhy yksx fdl dqpØ ls ckgj ugha fudy ikrs\

	 (a)	 O;luksa esa fyIrrk

	 (b)	 lkgwdkjksa dk ½.k vkSj mldk C;kt

	 (c)	 voSèkkfud dk;Z

	 (d)	 vijkèko`fÙk

	99.	Hkhyksa dh vkijkfèkd ço`fÙk dk ,d eq[; dkj.k gS

	 (a)	 nsunkfj;k¡ iwjh u dj ikuk

	 (b)	 bZekunkjh ls dke djuk

	 (c)	 vuSfrd dk;Z djuk

	 (d)	 xk¡o ls iyk;u djuk

	100.	èku miktZu ds fy, Hkhy dSls dkeksa esa lafyIr gks tkrs 

gSa\

	 (a)	 lkekftd dke

	 (b)	 èkkfeZd dke

	 (c)	 xSj oSèkkfud rFkk vuSfrd dke

	 (d)	 dfBu ls dfBu dke


